INTERNATIONAL TALENT SEARCH EXAMINATION

2024 - 2025 PRACTICE PAPER

CLASS - 2 ( MATHEMATICS )

Chapter — 1 ( Number)

SET-C
1. What is the difference between largest 3 digit number and the smallest 3 digit number?

a. 1099 b. 999 c. 1000 d. 899

2. If you add 168 to me, I will become 300. Who am | ?

a. 132 b. 122 c. 468 d. 123

3. A number is 400 less than 600. The number is?

a. 1000 b. 200 c. 300 d. 400

4. The sum of two numbers 778. One of the number is 576.What is the other number?

a. 200 b. 202 c.105 d.302
b.

5. Inaschool, there are 675 students, out of them 327 are girls. What is the number of boys in
the school?

a.384 b.348 c.340 d.448

6. Any number minus itself is --------------

a.l b.0 c. no change d. 2

7. Any number minus one is its -------------

a. successor b.0 C. predecessor d.2

8. Any number minus zero is number -------------- :

a.itself b.1 C. successor d. predecessor

9. The difference between the successor and predecessor of a number is -------

a.0 b.1 c.2 d.3
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10. Which number whether added to or subtracted from another number does not change the
other number ?

a.0 b.1 c.2 d.3
11. Find the difference between the greatest number and the smallest number among3209,
6889, 7856, 6389.

a. 4647 b. 4640 c. 4650 d. 4645

12. By how much is the sum of 3400 and 6738 more than the difference of these two numbers?

a. 3338 b. 3400 c. 6800 d. 6750
13. 1812 should be subtracted from -------- to get 12987
a. 3000 b. 3110 c. 3108 d. 3120

14. Find the difference between the two place values of the digit 8 in 8738 ?

a. 7990 b. 7995 c. 7992 d. 7000
15. There were 76 sweets in a box. In a picnic 37 sweets were eaten, which expression shows
how many sweets are still left in the box?

a. 76+37 b. 76-37 C. 76x37 d. 76+37

16. Find the difference between the face values of digit 8 in 8738 ?

a. 15 b.0 c.16 d. 64

17. (8756-3789)+2675 =

a. 7642 b. 7500 c. 7640 d. 7639
18. 18-(8x2) =
a.0 b. 1 c.2 d.8

19. Ameena earns Rs.7800 per month, she saves Rs. 1200 per month , what is her monthly
expenditure ?

a. 6550 b. 6660 c. 6400 d. 6600



INTERNATIONAL TALENT SEARCH EXAMINATION

2024 - 2025 PRACTICE PAPER

20. Find the answer of (9+9+9)-(6+6+6)

a. 9 b. 10 c. 15 d.o

21. Find the difference between 7324 and 3678

a.3646 b. 3644 c. 3654 d. 3346

22. By how much is the sum of 2350 and 6576 more than the difference of the numbers?

a. 8926 b. 4700 c. 4226 d. 4500

23. 1450 less than 4678 = -----------

a. 3228 b. 3222 c. 3278 d. 3220
24. There are 3567 employees in an airline company. If 2789 are men how many women are
there?

a. 772 b. 778 c. 728 d. 700

25. Division is process of repeated

a) Addition (b) Multiplication ¢) Subtraction (d)none of these



